XAVIER SCHOOL, GAMHARIA
2P TERM EXAM (2018-2019) Time: 2 Hrs

STD: X SUBJECT: COMPUTER APPLICATIONS FULL MARKS: 100

General Instructions

e This question paper is divided into two sections.
o Attempt all questions from Section A and any four questions from section B.
e The intended marks for questions or parts of questions are given in brackets [].

Section A (40 Marks)
Attempt all questions.

Question 1
[5x2=10]
(@) What is escape sequences? Also give some examples.
(b) State the java concept that is implemented through:
(1) A super class and a subclass
(i)  The act of representing essential without including background details.

(c) What is an array? Write a statement to declare a double array of 20 elements.
(d) What is the use of the keyword import?
(e) What do you understand by ‘Fall through’? Give an example.

Question 2 [5x2=10]

(a) State the difference between entry controlled loop and exit controlled loop.
(b) Write two advantages of using functions in a program.
(c) Which OOP principal implements function overloading?
(d) Differentiate between Call by value and call by reference.
(e) Ifx[]1={10,13, 2,98, 23, 7 }; what are the value of p and g?
(1) p = x.length; @)  q=x[3] +x[1] * x[5];

Question 3 [10 x 2 = 20]

(@) What will be the output of the following code:

double x =-5.93, y =-2.39;
System.out.printin(Math.abs(Math.min(x, y));
System.out.printin(Math.rint(Math.ceil(x));

(b) Write the output for the following code snippet:

inta[]=new int[5];
a[0] = 4, a[1] =8; a[2] =7, a[3] = 12; a[4] =3;

(1) System.out.printin(a]2 + 1]);
(i)  What is the total size of array a.

(c) What is the value of x in given expression? also show the steps.

intx =12; ;
X-=++X * (X--) % 5 — --X;
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(d) Give the output of the following program segment and also mention the number of times the loop
is executed?
inti, j;
for(i=6,b=4;a<=24;a=at6)

if(a%b == 0)
break;

}
System.out.printin(i);

(e) Predict the output:
inta[4] = {6, 2, 5, 9};
int S=0;
for(int i=0; i<=1; i++)

S=a[i] +a[3 -i];
System.out.printIn(S);
¥

(f) Give the output for the following code:
String A = “36”, B =200";
String C=A + B +“100”;
int X = Integer.parselnt(A);
inty = Integer.parselnt(C);
intz=x+y;
System.out.printin("Result 1 = "+C));
System.out.printin("Result 2 = "+2);

(g9) Give the output for the following code:
String S1 = "AMAN";
String S2="AMIT";
System.out.printin(S1.compareTo(S2));
System.out.printin(S1.equals(S2));

(h) Write any four primitive data type with its storage capacity.
(i) Write the output for the following code snippet:
Sting s ="Today 1s Test”;

System.out.println(s.indexOf(‘s’));
System.out.println(s.substring(0, 7) + *“ “ + “Holidays™);

(j) Identify the literals listed below:

(1) 0.5
(ii) IIAII
(i)  ca’
(iv)  False



Section B (60 Marks)

Attempt any four questions from this section.
The answer in this Section should consist of the Programs in either Blue J environment or any
program environment with Java as the base.
Each program should be written using Variable description/Mnemonic Codes so that the logic
Of the program is clearly depicted.
Flow-Charts and Algorithms are not required.

Question 4 [15]
Define a class named movieMagic with the following description:

Instance variable / data members :

int year - to store the year of release of a movie.
String title - to store the title of the movie
float rating - to store the popularity rating of the movie

(Minimum rating = 0.0 and maximum rating = 5.0)

Member methods :

movieMagic( )- Default constructor to initialize numeric data members to 0 and String data member
tO (1313
void accept( ) - To input and store year, title and rating.
void display( )- To display the title of a movie and a message based on the rating as per the table
below.
Rating Message to be displayed
0.0to 2.0 Flop
2.1t03.4 Semi-hit
3.5t04.5 Hit
4.6t05.0 Super Hit

Write a main method to create an object of the class and call the above member methods.
Question 5 [15]

Design a class to overload a function check( ) as follows:
(1) void check(String Str) — to convert the word in to piglatin word.

In Piglatin a word such as KING becomes INGKAY, TROUBLE becomes OUBLETRAY as so
on. The first vowel of word becomes the starting of the translation and proceeding letter being
shifted towards the end and followed by AY. Word that begins with a vowel is left unchanged.

Sample Input : KING Sample Output : INGKAY

(2) void check(String S1, String word) — to find number of times the word is present in given string
S1.

If I enter THE' and 'THE BIG FAT THE ODORE', then the computer should display 2.
Sample Input: S1 = THE BIG FAT THE ODORE

WORD= THE
Sample Output: 2



Question 6 [15]

Write a menu driven program to define the functions for each of the following task. The task should be
performed according to the user’s choice.

(i) Total number of digits present in it

(i) Total number of small letters and capital letters present in it.
(iii) Total number of alphabets used in it.

(iv) Total number of special character used in it.

(v) Total number of vowels presents in it.

(vi) Total Number words present in that sentence.

Question 7 [15]

The annual examination results of 50 students in a class are tabulated as follows. (Using array)

Roll No English Maths Computer

Write a program to read the data, calculate and display the following:
(1) Average mark obtained by each student.
(i) Print the roll number who gets highest average marks in the class.
(ili)  Print the roll number and average marks of the students whose average mark is above 80.
(iv)  Print the roll number and average marks of the students whose average mark is below 40.

Question 8 [15]

Write a program to calculate the sum of all the prime numbers between the range of 1 and 100.

Question 9 [15]
Write a menu driven program to perform following operation

(1) To find and display the sum of the series given below:

(i) To display the below pattern:
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SECTION-A [40MARK S
ATTEMPT ALL QUESTIONSFROM THISSECTION

la. The statements given below are False. Rewrite the correct form of the statement by
changing the word which isunderlined. [5]
i. Alpha cells of pancreas secrete Insulin.
ii. Deafness is caused due to the rupturing oRtin@a.
iii. Gyri and Sulci are the folds of Cerebellum.
iv. Salivation at the sight of food is a naturdla® action.
v. The point of contact between two neurons is kmaw Impulse.

b. State the exact location of: [5]
i. Mylin sheath
ii. Islets of langerhans
iii. Adrenal gland
iv. Ciliary body
v. Semi-circular canal

c. Given below are sets of fiveterms each. Rewritethetermsin correct order in alogical
sequence. [5]
i. Cochlea, Malleus, Pinna, Incus, Stapes.
ii. Receptor, Spinal cord, Effector, Motor neur@ensory neuron.
iii. Fibrin, Platelets, Thromboplastin, Fibrinogémrombin.
iv. Caterpillar, Frog, Snake, Owl, Green leaves.
v. Interphone, Anaphase, Prophase, Telophase, Wetap

d. Namethefollowing: [5]
i. A fluid that occupies the larger cavity of thgeball behind the lens.
ii. The membrane that disappears during late pregha
iii. An antiseptic substance present in tears.
iv. The fluid present between the layers of mensnge
v. Outermost transparent layer seen in front ofeyeball.

e. Rewrite and complete the following sentences by inserting the correct word in the space
indicated. [5]
[ is the scientific name of garden pedjeth Mendel used for his experiments.
ii. Oxygen combines with hemoglobin present in RB@ forms ------- :
fii. ---m-m-m- artery carries deoxygenated bloodrfr heart to lungs.
iv. The pigment responsible for green color of kEis -------- :
v. Mendel's --------- law is often known as purit§ gametes.

f. Givethebiological reason for: [5]
i. Pituitary gland is also known as the master glan
ii. Urine is slightly thicker in summer than in vian.
iii. We cannot distinguish colours in moonlight.
iv. Balsam plants wilt during midday even if thel s®well-watered.
v. The leaves of Xerophytes are reduced or modibgdrm spines.



g. Differentiate between the following pairswith referenceto what isasked in brackets: [5]
i. Cerebrum and Spinal cord. [Arrangement of neeiés]
ii. RBC and WBC [shape]
iii. Optic nerve and Auditory nerve [function]
iv. Mitosis and meiosis.[ number of daughter cells]
v. Rod and Cone cells. [Pigment present]

h. The diagram given below represents a certain stage of mitosis: [5]

i. Identify the stage of cell division.

ii. Name the parts labeled “a” and “b".

iil. What is the unique feature observed in thegyst?

iv. How many daughter cells are formed from thigetpf cell division?
v. Draw a well labeled diagram of the stage thaeaps before it.

SECTION B (40 MARK S)
Attempt any four guestions from this section

QZ2a. The diagrams given below are cross-sectidnoofld vessels: [5]

i. Identify the blood vessels A,B and C.

ii. Name the parts labeled 1 to 3.

iii. Name the type of blood that flows through “A”.

iv. Mention one structural difference between A &nd

v. In which of the blood vessels does exchangeaség actually take place?

b. Answer the following questions: [5]
i. Draw a well labeled diagram of Neuron showing tbllowing parts: Node of Ranvier,
Perikaryon, axon, dendrites and myelin sheath. [3]
ii. State the function of sensory neuron and a mogairon. [1]
iii. What is nerve made up of? [1]

Q3a. Given below is a diagram depicting a defethefhuman eye. Study the same and then answer
the questions that follow: [5]



b.

i. Identify the defect.

ii. Name the parts labeled 1,2 and 3.

iii. Give two possible reasons for this eye defect.

iv. Draw a labeled diagram to show how the abovatioeed defect is rectified.

i. Explain the term “Reflex Action”. [1]
ii. Expand the following abbreviations: [2]
(a) FSH (b) DNA

c. State whether the following actions are “voluptaction, simple reflex or conditioned reflex: ] [2

i. Blinking of eyes.

ii. Cleaning the table

iii. Playing on the keyboard.

iv. Salivation when food is put in the mouth.

Q4a. The diagram given below represents the steiébwind in the inner ear. Study the same and

then answer the questions that follow: [5]

i.. Name the parts labeled A,B and C.
ii. Name the part of the ear responsible for tratigrg impulses to the brain.
iii. Name the fluid present in the inner ear.
iv. Name the part labeled above which is respoedit:
a. Static balance
b. Dynamic balance
c. Hearing
v. Name the audio receptor cells which pick up afions.

b. Name the hormone responsible for the followimgctions: [5]

i. Increase in heart beat.

il. Maintains glucose level in the blood

iii. Regulates basal metabolism.

iv. Ossification of bones.

v. Prepares the body during emergency.

vi. Converts glucose to glycogen.

vii. Responsible for normal growth of the whole od

viii. Regulates the functioning of the male and &ereproductive organs.
ix. Increased absorption of water in the kidneys.

X. Increased blood supply to muscles.

Qb5a. Given below is the outline of the human bduyéng the important glands: [5]



i. Name the glands marked 1 to 4.

ii. Name the hormone secreted by part 2.Give ommitant function of this hormone.

iil. Name the endocrine part of the part numbered 3

iv. Name the gland that secretes Oxytocin hormone.

v. Why is the part labeled “1” called the mastergl? Which part of the forebrain controls
the gland labeled “1"?

b. The diagram of an apparatus given below dematesta particular process in plants. Study the
same and answer the questions that follow: [5]

i. Name the apparatus.

ii. Which phenomenon is demonstrated by this apipafa

iii. Explain the phenomenon mentioned in {ii} above

iv. State two limitations of using this apparatus.

v. What is the importance of the air bubble in¢lkperiment?

vi. Name the structures in a plant through whiaghabhove process takes place.

Q6a. The diagram below represents the human hrearte phase of its functions. Study the diagrarafally

and answer the questions that follow: [5]

i. Name the phase.

ii. Which part of the heart is contracting in thisase? Give reason.
iii. Name the parts labeled 1 to 4.

iv. Which type of blood flows through “2"?

v. State the function of the part numbered “5".

vi. Name the membrane that covers the heart.

b. Explain the following terms: [2]
i. Mutation ii Pulse
c. In a homozygous plant round seeds [R] are damhioxer wrinkled seeds [r]: [3]

i) Draw a Punnett square to show the gametes dsgrisfg when both the plants have
Heterozygous round seeds [Rr].

ii. Mention the phenotype and genotype ratios efdff springs in F2 generation.

iii. Name the sex chromosomes in human males andlés.
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All questions are compulsory
1. Choose the correct option. [1X5=5]

The vapour density of carbon dioxide is
a) 32
b) 16
c) 44
d) 22

The ratio between the number of molecules in Zgydfogen and 32g of oxygen is-
a) 1:2

b) 1:0/01

c) 11

d) 0.01:1

A colourless solution which gives a precipitatedhv Cl.

a) AgNOs
b) NH4CI
¢) Aquaregia
d) Zn
The promoter used during Haber’s process is
a) Molybdenum
b) Copper
c) Zinc
d) Lead
The compound responsible for the brown ring dutirgbrown ring test of nitrate ion.
a) Nitrosoiron (I) suphate
b) Iron(lll) Chloride
¢) Chromium sulphate
d) Lead(lll) Chloride
Name the following [1X5=5]
a) The catalyst used in the manufactured of nitrid d&gi Ostwald’s process.
b) A neutral oxide of carbon formed when fumic acidats with concentrated sulphuric
acid.
c) A black coloured substance formed when sugar igateked.
d) The gas obtained when rock salt react with conghsulc acid.
e) Volume of 1 gm of any gas occupied at S.T.P.



a)Galena, when roasted react with according tdalfmving equation:-
2PbS + ©— 2PbO + S©
Calculate: [2X3=6]
i) the weight of PbO formed when 478 g of PbS is exhst
i) The weight of PbS required to produce 5.6 LitreSOf at S.T.P
iii) The number of moles of oxygen required at the same ( Pb=207)

b )A hydrocarbon of vapour density Hs 80% carbon. Calculate the molecular formula

of the hydrocarbon. [4]
Complete and balance the following reactions--- [1X5=5]
a) Mg + HCl — + :

b) NaCl + HSOQ: — +

c) C+HNG > .

d) FeCk + NH:OH — +

e) NH:+ HCl — :

Match the following [5]
Column | Column 1l

i. Hydrogen Sulphide a) extreme solubility

ii. Carbon dioxide b) drying agent

iii. Sulphur dioxide c¢) fumes in moist air

iv. Hydrogen d) gold and platinum

v. Aqua-regia e) greenish/yellow colour

vi. Chlorine f) calcium oxide

vii. Conc. SOy g) colourless gas burns with pop sound

viii. Hydrogen chloride gas h) rotten egg smell

ix. Fountain experiment i) colorless,odourless ga

x. Drying agent for NH j) burning sulphur smell

What do you observe when [1X5=5]

a) Moist blue litmus is introduced in the jar of chite?

b) Excess of chlorine gas is reacted with ammonia gas.

c) Dilute sulphuric acid reacts with magnesium.

d) Nitric acid comes in contact with atmosphere.

e) Nitrogen dioxide is passed through acidified frggirepared ferrous sulphate solution.

a) Define Avogadro’s law. [2]
b) Calculate the percentage of sodium in sodiumrmadium fluoride(NaAlFe).

Correct to the nearest whole number [2]
¢) Name the fertilizer formed when carbon dioxisledacted with ammonia. [1]



Section B (Optional)
Attempt only 4 (All question carry equal marks[10] )

1. a) Using sodium hydroxide solution, how wowtdi distinguish ammonium sulphate
from sodium sulphate.
b) In the laboratory preparation of nitridy the mixture of concentrated sulphuric acid
and sodium nitrate should not be heaged strongly above 200 deg C. why?

c) Distinguish between acid and dilute hydrodile acid (using barium chloride solution).
What happens when magnesium nitride &técbwith warm water.

d) What happens when magnesium nitride iseateadth warm water?

e) How many molecules are present in 16 gramsslphur dioxide> (take Avogadro no= 6xX30

2. a) write balanced equation for the action ohgilirochloric acid on sodium sulphide.
b) Calculate the mass of ammonia that can bedrada from 21.4 g of NHHCI by the reaction
2HNCI + Ca(OH) — CaCh + 2HO + 2NH
¢) What will be the volume of ammonia formedenimeasured at STP in the above example?
d) A substance 'A' was heated with slaked lmé a gas 'B' with a pungent smell was obtained.
Name the substances 'A' and 'B' and gjivalanced equation.
e) What is passive iron? How is passivity reat#/

3. a) identify the gas evolved when sulphur isteéavith conc nitric acid.

b) In the manufacturer of sulphuric acid byteah process. give the equations for the conversion
sulphur trioxide to sulphuric acid.

¢) How would you distinguish between dil. H@ldadil. HNG; by addition of only one solution.

d) A metal 'M' form a volatile chloride contaig 65.5% chlorine. If the density of chlorine
relative o hydrogen is 162.5. Find the esalar formula of the chloride.

e) 0.2g of atom of silicon combines with 21@ghlorine. Find the empirical formula of the
compound formed.

4. a) if 16.4 grams of calcium nitrate is heated¢ulate the volume of nitrogen is heated. caleulat
the volume of nitrogen di oxide obtairs#@& TP and the mass of calcium oxide obtained.
b) State which of the two- a solution of HChiater or in toluene is an electrolyte. Explain.
¢) In the lab preparation of ammonia flaskitiedl in slanting position.
d) What is aquaregia forties and oil of vitrio
e) Why the impurity of arsenic oxide must bmosed before passing the mixture of.2@d
air through the catalytic chamber.

5. a) red brown vapours are produced when contstitpacid as added to hydrogen bromide.

give reason

b) Distinguish between dil sulphuric acid afichgtddrochloric acid (using barium chloride
solution).

c) State two relevant observations for leachtetcrystals heated in a hard glass test tube.

d) Complete and balance
i) PhO, + HCI — +
ii)CuSQ + NH'OH —» _ + .

e) Calculate the numbers of atom of each kirel3g of sodium carbonate.

6. a) what mass of Ca will contain the same nurobatoms as are present in 3.2 g of sulphur (S).
b) Find the percentage of water of crystallmain CuSQ.5H,O (Cu=64)
¢) Name the product formed when carbon and odric acid is heated. Give balanced equation.
d) Why cocn sulphuric acid is kept in air tidgputitles.
e) State what is observed when - ammonium hydeas first added in small quantity and then in
excess to a solution of copper sulphate.
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Que. 1. Write a composition of 350-400 words on amg of the following topics: (20)

a.

You are a spectator at a cricket match. Troublptersuddenly in the stadium and you
witness a riot among the crowd. Give a vivid dggan of the scene.

b. India has always believed in the value of the fgnilliscuss the changes both good and bad,
that have resulted from the break-up of the tradél family system.

c. The computer will soon replace the book. Express y@ws for or against this statement.

d. Write a short story which illustrates the truthtloé statement ‘Rumour is a great traveller.’

e. Study the picture given below. Write a story oreaatiption or an account of what it suggests
to you. Your composition may be about the subjéthe picture or may take suggestions
from it; however there must be a clear connectiemvben the picture and your composition.

Que. 2. Write a letter on any one of the followtngics. (20)

a. Recently you went to a restaurant for dinner and\gaur favourite sports star. You had the
opportunity of spending some moments with him at tWiérite a letter to your friend giving a
brief description of your memorable meeting with #ports star.

b. There are very few open spaces in your city foldcln to play in or for people to relax, walk

or jog in. Write a letter to the MLA of your consténcy, requesting him/ her to take action
regarding the building of public parks.



Que. 3. a. Write a notice informing studentsadiryschool about a camp being organised by
the Adventure Club of your schoo
b. Write an email to the Principal of your schasking for permission to organise the
camp mentioned above. (5)

Que. 4. Read the following passage carefully amsvanthe questions that follow.

There came to our town some years ago a showmarowhed an institution called the Gaiety Land.
Overnight, our Gymkhana Grounds became resplewdémbanners and streamers and coloured
lamps. From all over the district, crowds poureo ithe show. Within a week of the opening, in gate
money, they collected five hundred rupees a daiet¢shand provided us all sorts of fun and
gambling and sideshows. For a couple of annasagh booth, we could watch anything from
performing parrots to crack motorcyclists. In aitditto this, there were lotteries and shooting
galleries, where, for an anna you always stoodaa@ of winning of winning a hundred rupees.
There was a particular corner of the show which iwageat favour. Here, for a ticket costing eight
annas, you could be lucky enough to acquire atyasifearticles: pin cushions, sewing machines or
even a road engine. One evening, they drew a tioketber 1005, and | happened to own the other
half of the ticket. Glancing down the list of aléis, they declared that | had become the owner of a
road engine!

| looked stunned. People gathered around and gdzed as if | was some sort of a curious animal.
Some people muttered and giggled, ‘Fancy, anyooerbimg the owner of a road engine.’

It was not the sort of prize one could carry hortna short notice. | asked the showman if he could
help me to transport it. He merely pointed at aceotvhich decreed that all winners should remove
their prizes immediately after the draw and byrtio@m effort. However, they had to make an
exception in my case. They agreed to keep the eradithe Gymkhana Grounds till the end of the
season, and then, | would have to make my own geraants to take it out.

When | asked the showman if he could find me aedrike just smiled and said,” The fellow who
brought it here had to be paid a hundred rupeethéojob and five rupees a day. | sent him away and
made up my mind that if no one was going to drawwitould just leave it to its fate.’

‘Can’t | sell it to some municipality?’ | asked iocently. He burst into a laugh. As a showman | have
enough trouble with municipal people. | would ratkeep out of the way.’

My friends and relatives poured in, to congratutags on my new acquisition. No one knew exactly
how much a road engine would fetch. All the saney flelt that there was a lot of money in it.” Even
if you sell it as scrap iron, you can make a feaudands.” some of my friends declared. Everyday, |
made a trip to the Gymkhana Grounds to have adboky new engine. | grew very fond of it. | loved
its shining brass parts. | stood near it and pattaffectionately, hovered about it, and returhede
only at the close of the show. | thought all myubstes were just coming to an end. How ignorant |
was! How little did | guess that my troubles hastjoegun!

A. i. Which two sentences in the first paragraph stiwav Gaiety Land was very popular? (2)

ii. Give two reasons for the popularity of Gaietgrid. 2)

iii. What is meant by ‘It was not the sort of pritteat one could carry home at short
notice'? 2)

iv. What was the showman’s response when the wammaked him to help in transporting
the road engine? (2)

v. Why was the showman ready to leave the roachergiits fate? 2)



B. Give the meanings of: i. Resplendeiit Acquisition

)

C. In 60 words describe the reactions ofpieple, friends and relatives on the narrator’'s

winning the road engine. How did heatreis prize?

Que.5. A. Rewrite the sentences according to ttelictions.

(8)

(10x1=10)

‘Have you walked alone, this long distance todd&?asked Sunita. (Begin: He asked
Sunita...... )

The detective interrogated the suspect closelgvyer three hours. (Begin: The
suspect...... )

| suddenly realized that the room was too smaltlierthree of us to share. ( Rewrite
using so.....that)

iv. In spite of all her efforts, Susan did not succéBdgin: Despite.....)
V. Sachin stood first in the class and he also ex¢ellelebate. (Begin: Not only........ )
Vi. As soon as the bell rang, the children ran oubhefdiass. (Begin: No sooner......... )
Vii. She was the only person capable of being the HGapéain. ( Use: capability)
viii. Rohan was the tallest boy in the basketball te@Rewrite using: taller)
iX. My jeans was not returned until it was washed. (End....... before it was returned.)
X. The money did not arrive for a month. (Begin: &sw....)
B. Fill inthe blanks with suitable words. (6)
i. Truth always prevails the long run.
ii. Sujata stood the river and watcheships go by.
ii. She took some money her fatherntsdime novels.
iv. Deepak was very upset me.
V. Michelle is longing meet me.
Vi. Shilpa gave me a rare gift my birthday.
C. Join the following pairs of sentences without usamgl, but or so. (4)

Rani reached the spot. We were to meet there.
Robert met me. | gave him the document.

iii. Shehnaz was very upset. | wanted to help her out.

Sahil composed a song. It became a hit.
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Attempt any five of thefollowing

Read thefollowing extract and answer . (16x5)

Well, well, but for mine own part, as | have setmaprest to run away, so | will not rest till | v
run some ground. My master’s a very Jew. Give hppnegent. Give him a halter. | am famished
in his service. You may tell every finger | havealwmy ribs. Father, | am glad you are come.
Give me your present to one Master Bassanio, wihedd gives rare new liveries.
If I serve not him, | will run as far as Gbds any ground.—O rare fortune! Here comes the
man.—To him, Father, for | am a Jew if M&the Jew any longefdrama)

Who is the speaker? Whom is he talking to? ) (3
How does the speaker play a trick on his fathdriyagore in these lives? 3

i. Who is his new master? Why is he in impressed m?hi 3)
Give a character sketch of the speaker. 3)
Why does he not intend to serve the Jew. (4)

If to do were as easy as to know what were goatbi@hapels had been churches and poor men’s
cottages princes' palaces. It is a good divineftimws-his own instructions. | can easier teach
twenty what were good to be done than be one dinbaty to follow mine own teaching. The

brain may devise laws for the blood, but a hot tenigaps o'er a cold decree. Such a hare is
madness the youth—to skip o'er the meshes of gowmasel the cripple. But this reasoning is not

in the fashion to choose me a husband. O me, the f@boose!” | may neither choose whom |
would nor refuse whom | dislike—so is the will ofiéing daughter curbed by the will of a dead
father. Is it not hard, Nerissa, that | cannot c®oone nor refuse nongftama)

Where are Portia and Nerissa? Why are they there? 3)
Earlier, in what way did Nerissa try to cheer Rttivhat was Portia’s reaction to it? (4)
i. Explain — “the will of a living daughter curbed tye will of a dead father.” 3)
How does Portia choose her husband at last? ) (3
Explain — “ | can easier teach .......... Mine over teagli 3

Continuous as the stars that shine

And twinkle on the milky way,

They stretched in never-ending line

Along the margin of a bay:

Ten thousand saw | at a glance,

Tossing their heads in sprightly dar{p@em)

What is referred to as ‘they’ in the third line? 3)
Describe their comparison with the shining stars. (©))
i. Explain — ‘tossing their heads in splightly dance’. 3)

What is the effect of their beauty on the poet? 3)



Remove Watermark Now

Give the theme of the poem. (4)

And then the old man shook his head,
And, with a natural sigh,

"Tis some poor fellow's skull," said he,
‘Who fell in the great victorypoem)

Who is the old man? What causes him to sigh? 3) (
What incident prompted the old man to give an aotofithe Battle of Blenheim?  (3)
i. How did the battle affect the old man’s family? 3)
Name the two countries that fought the battle. \Whiomy won? What reason does the old amn
give for the victory? 3
State the poet’s attitude towards the war. ) 4

With reference to Norah Burke’s * The Blue Beadod(g)

Describe Sibia. (5)
Describe the crocodile. (5)
i. Narrate Sibia’s visit to the bazaar. Why has stenlikescribed as a dreamy girl? (6)

"How soon will supper be ready?" he asked.

"Right soon," answered Mrs. Thompson, begito bustle about. There was no asperity
in her voice.

After washing from-his hands and face the dustsaildof work, Joe left the kitchen, and went to the
little bedroom. A pair of large bright eyes lookaalat him from the snowy bed; looked at him
tenderly, gratefully, pleadingly. How his heart #e® in his bosom! With what a quicker motion
came the heart-beats! Joe sat down, and now, édirit time, examining the thin frame carefully
under the lamp light, saw that it was an attractace, and full of a childish sweetness which
suffering had not been able to obliterdstory)

iii.
iv.

V.

Why was Maggie bedridden? 3)
Who did Maggie become a purpose of life and how? 3)
What did Joe Thompson consider Maggie as? 3)
Why did Joe’s heart Swell? 3)

Who adopted John and Kate? Give reasons for both. (4)



XAVIER SCHOOL, GAMHARIA
2"d Term Exam-2018
Class: X F.M-80
Sub:- Geography Time: 2 hrs.

SECTION: A (30 MARKYS)

Q.1. Study the extract of the survey of India Map Sheet #6D/7.(easting 89-99, northing 80-90)
and answer the following questions:

a. Give the six figure grid reference for:Ai592 ii. The temple near Juvol. (2)
b. What does the blue line in the river systemadath? D)
c. Identify the drainage pattern in grid square278 Q)
d. Calculate the distance in kilometers along #m¢ ttack between Juvol and Ranavas. (2)
e. Calculate the distance by direct method in kdters between Karja and Rampura. (2)
f. What is the area in Sq. kms. Of the region esetiowithin easting (91 and 95) and northing
(82 and 84). 2)
g. What is the R.F of this map? What does it means? (2)
h. What is the main occupation of the people ofréfggon in the map? Give a reason for
your answer. 2)
i. What is the main form of transport in this ragffoGive the map evidence for your answer. (2)
j- What do you mean by 8r in grid sq. 92817 D)
k. What is the compass direction of Khara (9686)fTelen nagar (8989). )
|. State the settlement pattern: 2)
i. Vaghoriya 1i. Rampura
Q.2. On the outline map of India mark the follonsng (10)

a. Label the river Chenab.

b. River Chambal

c. Nilgiri Hills

d. Hyderabad

e. Very densely populated state located in soudtaln

f. Lake Chilika

g. Aravalli Mt.

h. Mark and name the coal field located in Jharkhan
i. Gulf of Khambat

J. Shade and label a region of red soil in Soutleda.

SECTION: B (50 MARKS)

Attempt any five questions:

Q3. a. Mention any two disadvantages of air trartsp Q)
b.What is a Natural Harbour? Give an Example. Q)
c. Why is road transport in India considered maefuwl than rail transport?
Give two reason to support your answer. (2)
d. Give reason to explain the lack of rail transjoiNorthern India. 2)
e. i. Mention two advantages of waterways. 2) (

ii. Give two reasons why peninsular rivers aveideal for navigation. (2)



Q4. a. What do you mean by sewage?

b
c
d
e

. What is acid rain? Mention two of its effects.

. What do you mean by recycling?

. What are the soil pollutants? How do they eféek?
. i. Define “Biomagnification” and “Eutrophicatitin
ii. What is Smog?

Q5 a. Explain the term oil cake.

b
c
d

e.

Q6.

. Explain the term Ratooning and name the crop which it is associated.

. Mention two problem faced by the sugarcane\atiirs in India.

. Give the geographical requirements for the ation of Jute?
i. Why is a lot of labour required for sugareaultivation?

(2)
(2)
(1)
(2)
(2)
(1)

(1)
(2)
(@)
(2)
()

ii. Oilseeds are an important commercial crop grawimdia. Give a geographical reason.(1)

a. i. Tea plantations are found in hill glspGive reason.
ii. Which state in India is the largest productcoffee?
b. What conditions of soil and climate are favoeafior the cultivation of coffee? (2)
c. Regular pruning is essential for the tea busBas geographical reasons.
d. Explain the term Ginning.
e. Why are silver oak and other trees are grown on coffee plantations.

Q 7. ai. What type of soil is best suited for Juigivation?

Q8. a.

O QO O T

ii. Define Colonal Planting.
. Darjeeling has always been famous for tea .Géagraphical reasons.

b
c. India is the largest producer of tea. Statectimeatic factors necessary for its growth.
d.
e

Name the by- products of sugarcane and theg. use
. Why must cotton balls be picked immediately.

i. Why are pulses often grown as rotatiapsr
il. Which virulent fungi disease affect wheat?
. Millets and pulses are called “Dry Crops “Explai

. Give two advantages of growing rice in nurseries

. What are the advantages of transplantation rd@tho
. State two important aspect of the Japanese dhefirice cultivation.

(1)
(1)

(2)
(2)
(2)

(1)
(1)
)
)
(@)
(2)

(1)
(1)
)
(2)

(2)
(2)



XAVIER SCHOOL, GAMHARIA
2"4 Term Exam-2018
Class: X F.M-80
Sub:- Hindi Time: 2 hrs.

Section-A (40 Marks)
Attempt all questions

Q1). fau T fowt & 9 foreht U faw R (25037l #) Ay ford:- (15)

| TR sragdhaneds gu RISHUIE & eIy 9@l

I PR arim lAadial SoheE &t 3R ggdmeieyur 3% 3ferg # fedmen® 5-
TR U fa9r fafau)

N, 9l g3 AEE S PEU HH-H UGS € 36! 82 3T sTep 0=y THmE - firag
0 SIS AR TR Thdle? TR 30 faam fafeu|

IV. ‘SRHE JeRE -39 AIPbIfad & 3MYF TR T HmE ford |

v. feu foa & endydes SRaT 3R s &1 SMUR SHERR qUH HIfoTg YammeE
ford e mitune Wy W fod ¥ SR |

Q2).F g 3 forxft ue fav OR T 120 97sal H# U= o - )

. Bed & 9E IEEH & IHd Ugd OH &1 GI-meoH Ut & o gREr|
Il 3MTUd &F H SHI R AT (street lightF 811 F 3B IgA0R | TR A & siferepd
P! 7 foraahe SMuférd udy Hram & forg ynfHous ford |




Q3). Y TEIiw P erEgde ufeu dUmRsHd e fory T usht & IR ford BTk gumEiYg sud
U Mgt H &1 811 Al (2x5=10)

fopdt 3me o o 61 HRERET U1 U T 31U sl &1 IUaRl <d §U 3611 Samide
“Td% Tl & HITaE B 1999, 0, ug-vel agtae & o1 B g & +ft +iae faene € g9
foreht ¥ off SxAHE! TR 1" ey 9gd U gU SR 98 T+ e oo

Ueh &1 HERADSH SOud R 31 I 7R 790 98 30 & H B Ie0SREINE SR
Y T yaTe 507 SISO WD SHR SSIHEET FRIARSmID “HEm-Han gait udrd g Tam
3R TR 3ip= o 51 50 ST 31U YTl BT ST SR YET ST 1

T ST SIH T b foT 3ER-IWR YAM T WR= I8 Ry =161 ya@m

I W0 T off HOsEH Hwd TR U 5 | G5 H wram 8 o s gnh & of wam 8
@ R LTI Y HITaH & FOER 81 Yhdle | 98 SR

Hemd - §: Idm of , “gni uard §, s

TR I8 R gnfl & 9 31 o WSRe0gnh 99 & RoIdm)iOid I8 TaETaRE
Ire R SR IS I 3T Yg I Aledhr QR e fean R &t %3 gfgaice T8 (gt
31T 3R sy &Y 3ney o T

T off 7 YB3 R s g57” 98 SIaNe unTd gnft Yoo w0 H I faaga
T SO AT MUBH A TR U YOR 39 T8 goft 4 IR o 4 Jol Ths xR W B fear
30 SMCRFIR H7 Y ot HaH HE! U HIONRG 3MUd HTaE - TR gfgaixe &l
MU TRUC fHrRag |

T Sft ggol HE 9 §id, “FI0sY gl IR $is JaF Urp”

31 3 FARIN “STR TP HEEd do RO &g I|mtd R UaTd 81 TR, 3= -3MTudh!
A1 T3 it slied, T Ife Hemd | fRETHE YIaE & 9@ Ugd Y-l Jiet T, Fifds Ia!
JARRR & HIaH I e Iy o | TH fad® I BIdHR IR Weg| &l ol UhS Ul g, T S9H
fAfgd Yo &l 6l IO U

e oT ord I8 e wHY § e o vt &1 Ia-nsiee 6y il § ST ST
31t STl STIRES BIake |

ZOTT SH ! X To! dfed ST [SU 7§ ! GHFFRIIRY, STARES gAY 3R
3fad ¥ S AR T

¥) IO TEEIFRIREd 4?35 30 s &) earedmn?

7) ot R 3 HEET FfeARE P

T) HEEd &1 JdEF! & arE Ht Ry 3 g YAt

=) 1 o 9 YAM SOROgHRUIE g3

Z) YA YSAINEA & & ol - RIS &l FICTHIHAP 39 TR ¥ 370! RIdRI&n

ot 87 (2)

Q4).f7g vt & IR FAEwEaa fafew -

| FEE S o e gem @ g FEm & - (1)
¢ Ut B TR TeHQ TGN I 30

I, 9 oeal # O fdt Ue See & 1 saHaEH! Weg AR - (1)
3P, Al

. v 7 A 5= &) weel & fAudidnie wee fafay - 1)

3T, Thg!, HWT, guin



v, U Tscl 9 fayor 9 - 1)

fAan R

V.  HEES SI0EEY - (1)
qqe, Y

VI, Wﬁmwﬁ%m@ﬂaamﬁmﬁm 3)

7) QT SR = TRER TH-G B A d HOSFAF T (T B Y PY)
=) foenlf ee R sagR U 9 (ufdwd & o aRafdd
T Il 9! g8 HH-H) wad ugd! 82 (@i sed

Section-B
Attempt four questions from this section.
You must answer at least one questions from eatiedfvo books you have
Studied and any two other questions.

TeE Gbord

Y TR ! eaHgds Ue qUISHSD i ford It i & 3e ford -

Q5). TH G I MHE H T ISl ¢! |7 TH FIEHR SUPheed UdheH Rad 330
fIYR & UH JE S “FHEOEY U Udi HaTmR! 1"

F) MTIHE H IS UdT R [PIdhiged UheH fRad SomiR ai? )
=) FOAYR A I U HITamet? fe el of TaiT Hd 382 )
M) T S IR g0 A forae! Teramel iR 9 SRy fear ©)
T) U HEEN H ROTIH SR FIOTImR? (3)

Q6). TR F el 7 3 98 IHE J WFEAOH T Bid 3R T forat-T-fonslt um wosifig
DR IVEHH IADBFONTEH 3! Udhid SO 3T Yl

%) TgLibd [avg & 9 g1 X6! 82 U= ST | 2)
=) d fohg gyoe Iade 2 3R withiferd $ea & favg o 39% sarfdam o2 )
) 3! B At 3R I B T8 IR R uRkfRufad o dumre 3)
) ‘TS WP d¢ HoM HN< [T (3)

Q7). “3R g TP IIH Al U, SATGH!, TH, I,HICR, HHH 9§ U gu W I¢ I8 & | A
T RITS! THEHR 7@ ¢ 81| RI-Tadh SRR ?”

F) SUgad A faq, fraa! iR 1 Hele? )
=) IUgdd HY e ai HOIRag S| | )
T TR0 RIS UHERR JerR SO 71 3R fhud fore feanmame =uy &1 | 3)

=) S0 fawg § oMU FE 82 SYHAM forad §u:39® faam ford || ©)



Q8). 7 fdg a1 WS Hidh AaLuRi|
Sfegdl T 3o, 5 Miawe fegy sraar 11
o9 T Yae s el S g g d A5 |
7 7T 3ifa WiEes), I &V 9 gade 1|

F) T3 3R Mia< & Hf A frd ssmeamm sk &1?

=) “5e § Yo gk 8T sra gl 8 # At 1” dufdd sodm Wy ¥ 1|
) T el 3ifd WiEes! am & 7 geie ufed SO Wy S |
=) o ford:- Mfdwg, ol sfered, &/, Wiy, g

Qo). TS T N T T foran
$S I UANE T
STBIESH g vt T
P9 IR e 10
FRE Y uRag &g, IE SHRAW ¢ |
TAIRARIGH g |

F) UBUHIA frd digT &) 9@ PR W2 I I 3 JEP

=) EHmid Bl I i1 71 3R fiem I e o

T) Bl U URET H FMHEd 523U 3% IRTT ¥ Jedd ¢ JHe! 1Y B |
) DHiAqmpMTIE ord | |

Q10).far=q UG SIHD g3 AH

dF g B g, SR

H-HieR SOgT A HAf

) SAda! 3 HITaH
ARf & IUE UBRGR
AR $d § WU |
forgad § 3 gafa ;R
TGG! GIH! § HTaH| |

F) fhad! SRE® FIAH AR?

=) g8 fpad, B -4 9of & fava & g 82

) HOf P IS P 82 37F [ H foax § a5 |
%) AU 3R gad IR BTG WP F |

(2)
(2)
®3)
©)

)
)

®3)

(2)
(2)
®3)
®3)



XAVIER SCHOOL, GAMHARIA
2"d Term Exam-2018
Class: X F.M-80
Sub:- History & Civics Time: 2 hrs.

INSTRUCTIONS — Attempt all questions from PART -1.
Mark the KEYWORDS.
PART -1 CIVICS (30 Marks)
QUESTION — 1 (1x10=10)
a) How are the members of loksabha elected?
b) Mention any two electoral functions of the Uni@arliament.
¢) Mention one difference between the Cabinet AaedXouncil of Ministers.
d) Mention two provisions of the Constitution, whiclearly establish the supremacy of the
loksabha with regard to the Money bill .

e) Define Quorum of the House.
f) On what grounds may the President of India Ineoneed from office?
g) How is the Vice President of India elected?
i) Mention two ways in which the Parliament exeesigontrol over the executive.
j) Who is the constitutional head of the nation?

QUESTION -2 (2x10=20)

a) What is meant by Doctrine of Lapse? Give an gam

b) Mention any two objectives of the Early Natidag.

¢) What is meant by the policy of Divide and Rulgqued by the British in India?

d) Who was known as Grand Old Man of India? Men&ag one of his contribution in the
freedom struggle.

e) What do you mean by Swadeshi? Why did Gandhiclaut?

f) What was the immediate cause of the First Wavkl?

g) Mention two differences between the FascistMazi ideologies

h) What was the immediate objective of Forward Bfoc

i) Mention any two provisions of the Indian Indedence Act of 1947.

J) Mention the programme of Khilafat Movement. di2gs)

PART -2
SECTION —A (CIVICS)
Answer any TWO from this section -

QUESTION -3

With reference to the parliament, answer the falt@aguestions —

a) Two judicial powers of the Parliament. 2
b) Four Priviledges and immunities of members afi@aent. 4
¢) What do you mean by Sessions? Explain Sessiahe ®arliament. 4

QUESTION -4

With reference to the Union Executive. explain -

a) Qualifications for election of President. 3
b) State three reasons to justify the indirectteamf the President. 3
¢) Limitations on Prime Minister’s Position and Aatity. 4

QUESTION -5
The Prime Minister is the KEY STONE of the Cabiagth .In the light of this statement discuss

his position in relation to the Cabinet. MentidWVE points. (20)



SECTION -B (HISTORY)
Answer any THREE from this section

QUESTION 6
With reference to the First War of Independenc&,718

a) Explain the immediate cause of the revolt of7185 3
b) Mention three economic causes that caused uamastg Indians. 3
¢) State FOUR changes introduced in the organisaticghe army after the revolt. 4

QUESTION 7

The advent of Mahatma Gandhi on the political sge a new direction to the freedom struggle.
In this context, answer the following —

a) What were the causes which led to the launaobiinige Non —Cooperation Movement? 3
b) Why did Gandhi withdraw the Non- cooperation iment? 3
c¢) Any four impact of Non —cooperation movement. 4
QUESTION -8

With reference to the results of the First WorldiMplain —

a) Territorial rearrangements that changed theigalimap of the world. 4
b) Emergence of the United States as a World Power. 3
¢) Three aims of League of Nations. 3
QUESTION 9

a) Which historic event is shown in the pictureiéahe leader in the picture. 2
b) Name the movement related to the picture. 2
c¢) Explain the historic event in (30 -40) words. 3

c) Mention three repressive measures taken by titielBto suppress the movement. 3



XAVIER SCHOOL, GAMHARIA
2"4 Term Exam-2018
Class: X F.M-8
Sub:- Mathematics Time: 2 ¥ hrs.

Attempt all Questions from Section A and any Foueg&ions from Section B.
The intended marks for questions or part of quastare given in brackets.

Section: A
Attempt All Questions from this Section.

Question: 1.
(a) Using remainder theorem, find the value of K. ifdividing 2)§¢ + 3¢ -Kx + 5 by
(x -2), leaves a remainder 7. 3)
. . . x+y)? _ x
(b) Ifx,y, z are in continued proportion. Prove t(y+z)2 =7 (3)

(c) GivenA:[g _06] ,B:[_3 2] andC:[g O]

14 0 2
(4)
Find the matrix X suclatih + 2X =2B + C
Question: 2.
(a) Find the co-ordinates of the image of (3, 1) urrdélection in x-axis followed by reflection
in the line x=1. 3)

(b) Find the equation of a straight line passing thiotig point (1, 4) and y-intersecting the line
X =2y -11 =0 on the y-axis. 3

(c) Write down the co-ordinates of the point P thaid#g the line joining A (-4, 1) and B (17,

10) in the ratio 1:2.Calculate the distance OP wl@iis the origin. (4)
Question: 3.
(a) IntheAABC, <A is acute.BD and CE are perpendicular onahd AB respectively, prove
that AB x AE = AC x AD. 3)
(b) Prove that (Si® + Co®) + (tar® + coB) = se® + cosed 3)
(c) If the mean of the distribution is 7.2, find a dnd (4)
Means 5 6 7 8 9

No. of Students 6 a 16 13 b




Question: 4.
(a) In a single throw of a die, find the probability gétting: (3)
® An odd number.
(i) A number less than 5.
(iii) A number greater than 5.
(iv) A prime number.
(v) A number less than 8.
(vi) A number divisible by 3.

(b) Mohini wishes to fit three rods together in thehaf a right triangle. If the hypotenuse is
2cm longer than the base and 4cm longer than tiréesih side, find the lengths of the rods.

3

(c) Find the sum of first 24 terms of the list of numb@hose fi term is given by

an=3+2n. 4)

Section: B (40 Marks)
Attempt any Four Questions.
Question:5.

(a) Mr. R. K .Nair gets Rs. 6455 at the end of one ydhe rate of 14% p.a in a recurring

deposit account. Find the monthly installment. 3)

(b) Ajay owns 560 shares of a company. The face vdleach share is Rs. 25,The company
declares a dividend of 9%,calculate:- (4)
® The dividend that ajay will get.

(i) The rate of interest on his investment, if ajay paisl Rs. 30 for each shares.

(c) Given 20 — 5x < 5(x + 8), find the smallest valdex avhere, (i) xe | (i) X ¢ W. (2)
Question: 6.
(a) Find the value of K. so that the equatior? 3%x + 2 = 0 has equal roots. Also, find the roots
in each case. (4)
ay—bx cx—az bz—-cy X _y _zZ
(b) If ( ) =( ) = ( ),prove that— == =-, 4)
p q r a b c
. . 7 0 _[3 0
(C) FindXandY,ifX+Y {2 5] and X -Y _[0 3]. (2)
Question: 7

(@) The sum of first six terms of an arithmetic progies is 42.The ration of the #@erm to the
30" term is%. Calculate the first and thirteenth term. (4)

(b) A point p (a, b) is reflected in the x-axis to @;3), write down the value of a and b.
p” is the image of p, when reflected in the y-aXi¢rite down the co-ordinates of p.
find the co-ordinates of p’”’, when p is reflectedthe line, parallel to y-axis such that x=4.

(6)



Question: 8.

(a) Three consecutive vertices of a Parallogram AB@bAa(1, 2), B (1, 0) and C (4, 0).Find
the fourth vertex D. 4)

(b) On a map draw to a scale of 1:25000,a rectangilsaof land ABCD has the following
measurement AB= 10 cm and BC = 16 cm.calculate: (4)

0] The distance of a diagonal of the plot in Km.
(i) The area of the plot in Sq Km.

(c) Find the equation of the line parallel to the Ie+ 2y = 8 and passing through the point
(0, 1). 2)

Question: 9.
(a) The angle of elevation of a jet plane from a pdéirin the ground is 60°.After a flight of 15
seconds, the angle of elevation changes to 3ielfet plane is flying horizontally at a
constant height of 1583 metres.find the speed of the jet plane. 4) (

(b) From the following frequency distribution find:- (6)

)] The median.

(i) Lower guatrtile.

(iii) Upper guatrtile.

(iv) Inter quartile range.

Validate 15 18 20 22 25 27 30
frequency 4 6 8 9 7 8 6
Question: 10.
(a) How many terms of the AP 9, 17, 25,.......... must be niatioegive a sum of 636 ?. 4)
(b) The weight of 50 workers is given below:- (6)

Wt.(in Kg) 50-60 | 60-70| 70-80 80-9¢ 90-100 100-11010-120
No of workers 4 7 11 14 6 5 3

Draw an ogive of the given distribution. Use a ¢grgpper to estimate the following:-
® The upper and lower Quatrtiles.
(i) Final the numbers of workers weighs 95 Kg and above



XAVIER SCHOOL, GAMHARIA
24 Term Exam-2018

Class: X F.M-10
Sub:- Moral Science Time: 1 ¥ hrs.

Answer all the questions

Ql. a. What elements prevent and what elements pgeoatezurate communication? (20)
b. What happens when mass media publish or braaidéasnation that the government
does not want them to? (8)
c. How would you distinguish between responsible iaresponsible reporting? (8)
d. “It must be right because everyone is doing What is your reaction to this statement?
How would you respond to someone who makissstatement to you? (8)
QIl'. a. Comment on the statement: “Human greed ioresiple for the balance of nature being
upset and many species becoming extinct (20)
b. “We cannot create life, therefore we have nbtrig destroy it.” Discuss this statement
using examples. (8)
c. Who is responsible for life? Do we have the tighdestroy or kill life? (8)
d. All the scriptures of all the religions teachthiat God is the creator and controller of life.
Comment on this statement. (8)
QIIl .a. Distinguish between infatuation and love. Wamitice would you give to a teenager
infatuated with a member of the opfgosex? (8)
b. Examine the different attitudes built into Indieulture towards boys and girls? Are they just?
What changes would you make? (8)
c. Do you think it is wise for an eighteen year gid to get married? If not, why not? (8)

d. What kind of adjustments do partners have toenmala marriage? (8)



XAVIER SCHOOL, GAMHARIA
2"d Term Exam-2018
Class: X F.M-80
Sub:- Physics Time: 2 hrs.

Section: | is compulsory. Attempt any Four Quesfram Section II.
The intended marks for questions or part of quastare given in brackets.

Section: A (40 Marks)
Attempt All Questions from this Section.

Question: 1. (2x5=10)
(a) Is it possible to have an accelerated motion witbrstant speed? Explain.
(b) With reference to their direction of action, howed a centripetal force differ from a
centrifugal force?
(c) A coolie carrying a load on his head and movingdrictionless platform does no
work. Explain why?
(d) Define ‘Joule’; establish a relationship betweernugit and CGS unit of work.
(e) How can the work done be measured when force isealgt an angle to the direction
of displacement?
Question: 2. (2x5=10)
(a) If the power of a motor is 40 Kw, at what speedsdibeaises a load of 20,000 N?
(b) How is the refractive index of a medium relatedtéaeal depth and apparent depth?
(c) Light passes through a rectangular glass slablanddh a triangular glass prism in what
way does the direction of two emergent ray dified avhy?
(d) The refractive index of a glass with respect tdsalt.5.what is meant by this statement.
(e) How does the angle of deviation produced by a pdsange with air increases in the
value of angle of incidence.

Quegtion: 3. (2x5=10)
(a) Name one property of waves that do not change wiewave passes from one medium to
another.

(b) What is meant by resonance?

(c) State two ways in which resonance differs fromddreibrations.

(d) Explain why stringed musical instrument. lines ¢juitars are provided with a hollow box.
(e) A person is tuning his radio set to a particulatish. What is the person trying to do to tune

it?
Question: 4.
(a) What is meant by earthing of an electrical appkghc 2)
(b) Name the materials used as fuse wire, state itsictamistics. (2)
(c) What is the purpose of using fuse in an electdgablit? (2)

(d) Draw the diagram of the ring main circuit. (4)



Section: B (40 Marks)
Attempt any Four Question from Section |l

Question: 5.
(a) Differentiate between heat capacity and spec#t ltapacity. 3)

(b) A geyser has a label 2 Kw, 240 what is the costsaig it for 30 min, if the cost of electricity

is Rs. 3 per commercial unit? (©))
(©)
)] In what unit does the domestic consumed. Stateahe of this unit in S.I unit.
(i) Why should switches always be connected to tleevive?
(iii) Give one precaution that should be taken while ag@witches. (4)
Question: 6.
(a) Name the type of single pulley that can act ageefaultiplier. Draw a labeled diagram of
the above named pulley. 3)
(b) A body of mass 50 Kg has a momentum of 3000 Kd.oadculate the K.E also find the
velocity of the body. 3
(c) Derive a relationship between MA, VR andefficiency) of a machine. (4)
Question: 7

(a) Calculate the equivalent resistance between the poand B. (6)

(i)

(ii)



(b) Three resistors R and R are connected in parallel, derive an expressipthioequivalent

(4)

resistance.

Question: 8
(&) A man standing infront of a vertical cliff firesgain. He hears echo after 3S.on moving closer
to the cliff by 82.5 m.he fires again. This time, liears the echo after 2.5 Calculate:-
0] The direction of the cliff from the initial positioof the man.

(i) The velocity of sound.

(4)

(b) The diagram alongside shows the displacement-tirmehgfor a vibrating body. (6)
) Name the type of vibrations produced by the vilngabody.
(i) Give one example of a body producing such vibration
(iii) Why is the amplitude of the wave gradually decreg®i
(iv) What will happens to the vibrations of the bodgafome time?

Question: 9
(a) 40 gm of water at 6Q is pourced into a vessel containing 50 g of wat&0C .the final

temperature recorded is 80.Calculate the thermal capacity of the vessdlSp heat

capacity of water = 4.2 3g'} (3)
(b) State three difference between light wave and souawats. 3)
(©) (4)
® Name two safety devices which are connected ttivbavire of a household electric
circuit.

(i) Give one important function of each of these tweaicks.
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